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DIGITAL COMMUNICATION SYSTEMS
Fuifa @ : 39 [fRrehaH 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () IH-FHATIFEY g HE
Note : There are THREE sections in the paper A, B and C.

(i) QFTCH T GG & G 10 977 & IR G177 | Ieie 577 @ 37 %1 8 T
@3} 10 977 TGS FHR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT & & 8 yo 7 @ [58 6 T & IR T | JeIF J97 3 3 F1 & T
ST 5 5T / 50 II®l 7 I e |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within § lines / 50 words.

(iv) \EIT 6 91 4 @ fresT 4 Fv1 & IR T | 5O J97 8 3% H 8 T
577 15 &5 / 150 Yieg] 4 3ok &g |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) % QHT F G I B FHAR T GrE 5 B |
Solve all the questions of a section consecutively together.

(vi) @1 yTwTsT 7 = 817 @1 fefa 4 3 srgare A= 8 |

Only English version is valid in case of difference in both the languages.

ARA -7
SECTION - A
1 () T @ e fesfieat srafeeem foen & gamfiet 1 I el & 7
(a) ©HE TRIET (b) = TFHIST
(c) TR (d) @ fewie
Which of the following is not part of a Digital Communication System transmitter ?
(a) Source Encoder (b) Channel Encoder
(¢) Modulator (d) Source Decoder

=
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FEEha BIAT
(a) U =S T U GO H Toh GeAT ST |
(b) T B =T R T T Q) AT G W 3o G Ehat b ST |
(c) e =el T Teh &1 =T W |
(d) A HE T

Multiplexing is

(a) Sending one information at a time on a channel.

(b) Transmitting two or more information signals simultaneously over the
same channel.

(c)  Transmitting information on many channels.

(d) None of the above

(i) e e S 2
(@ f b 2f
(€) %3 £ (d) 4f
Nyquest Rate is
(@ L. (b) 2f,
() 3f, (d 4f
(iv) PAM Re &) et & g fecere fomer 5 wpen 2
(a) -9 fhe (b) de-wi frex
(¢c) TR-UE fheax (d) -9 fheex
The PAM signal can be detected by
(a) Band Pass Filter (b) Band Stop Filter
(c) High Pass Filter (d) Low Pass Filter
(v) I T UeE H TR T9TE i e % gr o fha o wear 2
(a) Sfeex (b) IS
(c) ToTHH (d) HE=R
Aperture effect in flat-top pulses is reduced by using
{a) Prediator (b) Integrator
(¢) Equalizer (d) Compander

(vi)

PCM fireew ¥, ufmmofiertor vk ek otar 2

(a) dEmfEmEiHaenw (b) dumaw
© @9@®)eA (d) ¥ A B T
In a PCM system, quantization noise depends upon

(a) Number of quantization levels

(b) Sampling rate

(c) Both(a)and (b)

(d) None of the above
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(vii) QAM #, Gl Tg= seerd 8
(a) 3R 3T el (b) 3T 3R AT
(c) TS T IR el (d) Tz g 3 sen
In QAM, both identities are varied
(a) Frequency and phase (b) Amplitude and phase
(c) Baud rate and phase (d) Bit rate and phase

(viii) MSK 3R QPSK Isi1311 ol gei1 I8 ewriet 2

(a) MSK &l &5 9Ife Y 3Tmasend 2l 2 |

(b) QPSK ! A ifdk hl 3Tervarehar aidl @ |

(c) T B! THTH Wifekt Shl SATITIHAT BT R |

(d) ST | T B A&l

Comparison of MSK and QPSK schemes shows that

(a) MSK requires less power  (b) QPSK requires less power
(¢) Both require same power  (d) None of the above

(ix) st forem 1wt arfereraw g1t R, i P (sfrehar) 1 A B 2

(@) 0.25 (b) 0.5
(¢) 0.75 @ 1
In binary system, entropy is maximum, when value of P(Probability) is
(a) 0.25 (b) 0.5
(¢) 0.75 d 1
(x) M fore oot IR e St 6t St garar gutdt ST 2
(a M by 2M
() logM (d) M?
Channel capacity of a noise free channel having M symbol is
(@ M (b) 2M
(c) logM (d) M? (1x10)
A — off
SECTION - B
T 2t 9 Fraere 3tawrer ot ity hif |
Define Nyquist Rate and Nyquist Interval. 3)
TSV o Hfered T TS |
Explain Quantization in brief. 3)

PAM, PPM & PWM ! Bftqed § e hif |
Briefly compare PAM, PPM and PWM. 3)

oI SR 90 Hehd o ToTu ek €t oiaTsu

x(t) =3 cos 50 nt + 10 sin 300 wt — cos 100 nt.

Determine the Nyquist rate for a continuous time signal

x(t) = 3 cos 50 nt + 10 sin 300 ntt — cos 100 mt. 3)
P.T.0O.
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6.

10.

11

12.

14.

ST ATV & 1 921 &1 frfam |

Write advantages and disadvantages of Delta modulation.

ASK ! TR-FETd = I @ 3TRE 1T 317 38 guemsy |

Draw and explain the block diagram of a Non-coherent detection of ASK.

HET LT B 8 7 FHSST |

What is Information Rate ? Explain.

BPSK ! geT1 # QPSK 1 311 & 7 §ITsu |
Why QPSK is better than BPSK ? Explain.

e —
SECTION - C
PCM % Hehdl 309 i & SEeh T %1 TUITe! e & goramsu |

Explain in detail the generation and detection process of PCM.

BFSK Hehel %! 3091 3 37 36% Tge 1 Yol forean & amemsu |

Explain in detail the generation and detection process of a BFSK signal.

=1 =1 afvenTfyg o foear & wwemsu

Define and explain the following in detail :
(i) goIRRH

Equalizer
(i) STIFS FeapTiH

Adaptive equalizer

HAIIA HIE I Forkqr & Fwemzy |

Explain convolutional codes in detail.

=1 7 fomar @ o= Hifte
Discuss the following in detail :
(i) ERmHE

Hamming code
(i) LDPC &'

LDPC code

PCM-TDM f&en ! wfes gwemsu |
Explain PCM-TDM system with diagram.
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